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Fig. 7: PMA-SynRM incremental inductances maps (finite

element analysis). (a) lgq(id,iq) (b) lag(ia,iq) (©) lga(ia,iq)
7(d) qu(id,iq)
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Fig. 4: PMA-SynRM flux-linkages maps (finite element anal-
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Fig. 8: PMA-SynRM torque map and MTPA trajectory (finite
element analysis). (a) m(iq,%4) (b) 8"3(%9—) = 0. In red,
MTPA trajectory computed with (8). In blue, MTPA trajectory
computed with (10).
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Fig. 9: PMA-SynRM MTPA trajectory in polar coordinates
(finite element analysis). In red, MTPA trajectory computed
with (8). In blue, MTPA trajectory computed with (10).



e colohe. MTPH -

- 3 - X = T = A
o - i(:[M»f Xfﬂil MTOA g:f = /af.L: “ ;—jﬁl‘)
Om,  o- 20 didiq M dog oo MIdoq _ | b dadot , g did 44_4]
T T e T +ZZ§ a V0% T % Qip s Afaa
e ol Ay e
oKL | ed DA Drg _ ey Gd \ oM
Did 20 IxL - s Nl

did | eshio o dut e

o ZeAf’C‘L‘;f —(24&¢'f:z'+lf€,¢il) +Z_J4:<L+L‘“3Y:o

VA =RIL _ ol kp ko= Qn < g
U = exp test AL 7‘4}“{ e

el Vi

l(/UV Nele —= U:.L, U(

/‘\ ch, — -—‘:J_,JQ
Sy

R V) G RBSmwo  Diawers e B )






